Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-610 Therma-Tru Flush GLZ\Drawings\2019 REV\TX-4204-05.dwg, TX-4204

POWERED Bvlg
1l

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2018
international Residential Code (IRC}, Sections R301 & R60% and the 2018
International Building Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-bome debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Aliowable design pressure requirements must be equal o or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET# DESCRIPTION
1 Typical elevations, design pressures & general notes
Astragal details (Ultimate Flip Lever)
Astragal details (Ultimate Multipoint}
Astragal details (Ultimate Huricane)
Door panel details {flush glazing)
Horizontal & vertical cross sections
Vertical cross sections
Frame anchoring

O NSOV A WIN

74.44" MAX. FRAME WIDTH

81.94" MAX. O.A. FRAME
HEIGHT (INSWING)
81.125" MAX. O.A.

FRAME HEIGHT {OUTSWING)

/
a

lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9187

BUILDING CONSULTANTS, INC.

Phone No.:
CERTIFICATE OF REGISTRATION # F—11852

TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

ENDURA

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

LFS
LFS
LFS
BY

UPDATE TO 2018 IBC/IRC CODE

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE |LFS| PART OR ASSEMBLY:

9/05/18 |ADDED ADDITIONAL THRESHOLDS
1/07/14 |ADDED ARTICULATING SILL

11/18/19|ADD "FusionFrame” OPTION &

NO,| DATE

1

o

4
3

REVISIONS

DATE: 8/07/12

ScALE:  N.T.S.

DWG. BY: JK

XX INSWING +50.0 -55.0 +45.0 -50.0 +35.0 -40.0
PINE
XX OUTSWING +50.0 -55.0 +45.0 -45.0 +35.0 -35.0
XX INSWING +50.0 -50.0 +45.0 -50.0 +35.0 -40.0
"FusionFrame”
XX OUTSWING +50.0 -50.0 +45.0 -45.0 +35.0 -35.0

CHK. BY: LFS

DRAWING NO.:
TX—4204

SHEET | oF 8

@ 2012 R.W. BUILDING CONSULTANTS INC.



*ANI BANVLIASNGD ONIGHNgG "M'¥M 2102 @)

2S8LL—4 # NOLVAISIONY 40 ILVOIALLNIO SNOISIAZY
SYIINIONT TYNOISSIJ0Md 40 QMvOs SVX3L @w@w&m&ﬂ«\%&@m«wa Ad AIvd [ONJ | . " 8_
LELE'6G9°CLE TON Suoud S47 TS ONIVINOLAY 0300V| v1/20/1 1 L || 9|% | S
GBSCC “14 OOMIDA 0CZ Xog .O.n\H\Mq "A1BW3SSY MO LdVd | 547 | 38NLdYD Nid IvoveISY MIN aavl ¢i1/6/c | ¢ _n/u M o M o
“ONI *SINVINSNGO SNIGUNG S41| SQIOHS3YHIL T¥YNOLIAAv d3dav] 81/co/6 | £ I <| | |2 ] 2_
3000 _041/081 8102 _OL 31vadn 11 1&5185le &
£ZIYOL# T'd SwxaL VNAaN3 S31 % NOUdO ,ownljuoisni, aaviei/Bi/itl v 1i|d e |y|3 &
‘T'd IPIWIYDS ‘d uopuk] Ag petndeld sjueLLNoo(] 1109Na0dd S8 W w P 5
£2°F1 »
—ee ]
.Osm..( /@pr:..,m:m\%%x w
EAR oS AN <
~ s N =
-5 €ZLP0L ...v.w 2 v
o ...::::.:.u ............. r...u m v
5 LAINHOS 4 NogNAT o & &%
o ..m ......................... u..:‘t.. eyt <
,.M.UW .... ! o. ,«,.h.s & W O o
¢ o8 i J .«,su.% el - m =~
OGS Y (%5 5@
mww AT et &Js\n\( H
e =S
]
O a5 5
3 woLog = i S
« ¥
=
=
f 3
(%) )
= =
T I
i L
fa 1 a.
& &
> >
oW o)
3 3
(72
&
= b4
5 Q
P
Z
S m S
—
& = O
[2"4 L = Ll
Q 0z o w
R —
& s . S
O < » <
=z €I [a°4
= —
< ] 197
s <
o
:m.@.N o
)
-=Z
on
B o
B
=
28
e S
dOl i
S &2
=
o uj =2 Q
== <
& >
55
mw a
%z
& o
e X
—d
5
o
3 <
0
3 %
& —
: Z
>
m T o~
Eg o iy
=5 © o2 o W
29 =53 —
VI
o a %0 52 o
oz O # 0 o= ]
= =2} o5 L
% & s = o 3
v O 5 Wi < LLi
-~ A pa = o
58 E 2 <
#* O > M
= =
—1
/ =

2-1 BMPS0-v0Zp-XL\ATY 6L02\sBUIMRIQ\ZTD s nuL-eunay ] 0L9-¥ -.IAL\SU] J0 1daq sexal - B\ININVINYIJ BINPUI\SIUAD\Y



"ON| BANYLINISNDOD aNiaung "m'd» 2102 @

2S8LL—d # NOLVMLSIONY 40 ILVOI4INIO - SNOISIAJY :
SHIANIONI TVNOISSIZJOHd 40 QNVOE Svxal (INIQg=L11NW 3LvILTN) A8 31vd [ON] oy o
STVLIA WOVHLSY ISR e e R
L616°659°CL8 FON ouoUd . S31 TIS_ONILVINDIL v1/40/1 NEEEERIN
G6GEC 14 OOHIDA 0£Z Xog ‘O'd \N\h -NBWIASSY M0 LVd 1 S37 [ FUNIdYO NId TVOVHLSY MIN aav| si1/s/s | ¢ NS L
“ONI “SINVLINSNOO SNIGTING @v SJ11__SQIOHSIHL TNOLIAAY 0300¥]81/50/6 [ £ || =| | |£ 1 ||
3000 2¥1/081 810z Ol 31vddn © ARAER
CZILHOL# 'I'd SvxaL VANANA S % NOIdJO  3woljuoisny, aavlel/8i/ii| v |uw|% ||y z &
3'd WPILYDS 4 uopuk :Ag pedodesd sjuswunsoq 119NaoNd 0|28 z
%\.%\ u\\ Lid
AN ! &
Foawd TWHo/ect %
AN SN (8 b
£ oL, S 5
~ -
R4S ] ...W‘w WoLLOg i Sz
% LOINHOS 3 NOANT 2 « .
¥ , =
N oy T 5 5
KN 5 B N
. LT S S ;
M B o—— Il o
o W i
e S) % 3
. e -
. o r
i RS0 5
in - < Q
™ = [a) 17
8 ] 5 2
w0 T
s ©@ W
Y y
o g
5 < =
] nl. o~
. oid >
z 2] o0
o Z 3
<L Q
o
< .
_ Q | BL1
= w ] n
R F 3 S
NS . O
& .. « 3
« 7]
[a74 —
3 > 3
Q 8 % o)
Z ) =
< - S Mh..
= )
1 89T
in
™
™~
@ 5 ﬂL
4. L
. a\
ik
@ = -
¢ W 0 v =
P = £ = o
i
¢ or C
90T : : Z
dOl () M o Z
& 9 5
2 5 Q b
m 17 = =
- Q I =
(8} i [e]
< 8 = 5
o = X
T ~ «
2 =< 2
gy o =
g = S
© o}
g 52
5 & g
N2 O ‘
— (%]
. w w
> = [%¢}
2= 5 & —
- O
/ o 0 pr
s O
< O c oc
N = 7 = g
© I o) 5 V)
S o c <C
/2 = " Z 2 2 Z
,,w» = Jql b - a_u
:...... l\ &/ < v@iﬂlﬂ T M m ﬂVv m
\ 7 b 7 fr} ko) —_
5 5 2 5
£ S 3 S -1
e 0] — w M
=2 & - > 4
< c S 3 g L
o & S 8 3 o
% & PY E <
@ 3] <o £ =
2 s G £ —
s o B 2 =
b © = < -
2 & | \
o }
[}
N . — ' VAN

NI

£-1 'BMP'S0-702y-X 1\ 6102\sBUIMEIQ\Z19 ysnid nuj-euniay ) 019-YQ - 1QL\SYI 40 3da sexa - g\ININVINYId @Inpuz\siuaiDNy



ON] BANVLIAENDD aNIaing "m's 2102 @

2SBLL—d4 # NOUVHISIONY 40 ILVOLIILNED SNOISIAZY ‘
SHIINIONI TWNOISSIA0Nd 40 QM¥VOE SYXIL QM«@W%%J&&NQW@E A8 d1vd ON]« 8_
1616'659°C18 FoN ouoUq S TIS_SNUVINOILEY 03aav| v1/20/T] L || vi|X|0| & |7
SESEE "4 OOUIDA OSZ X0 ‘0°d \SUM% ATBNISSY 80 14Vd 571 38NLAVD NId TvOVuISV MEN aav] S1/6/3 | 2 (5| 7). S| 8
“ONI ‘SINVLINSNOD ONITINg S41| SAI0HS3YHL TYNOLIGAY d3dav| 81/s0/6 | ¢ || < g 1 4“
3000 0d1/081 8L0Z Ol 31vadn ©Of &5l &S
SZLYOLF “3'd SWXIL VYNAN3 s41 ® _NOIdO ,dwbijuoisnd, aavlel/gL/it] v |w|S|e| |2 &
‘q'd IPILYDSS 4 uopuk :Ag pespdeld sjuswinsoq :10NQ0Yd W m W Ei% &
i
P4
&
—_
2 v
= 7
g, ¢
= L ow
oS S < -
0o M T M
rr
Q
oo
o)
WOLLOg S
2 .D-% s~ M
o 3 r v al D
m. ¥
x
&
| 3
o v
= =
= T
o o-
e} o &
; « > >
i % %

e

(7] ML
brd - Umno
2 2 ZQ
< . O LEQ—=| = g
Q = i I.._ 25 2
(@] O < < =)
= 9 5
i) ! - o ) a
o ! _ & 0 .A\m
A Ml = = T o o 2
w o] P ——
I . < <|Q ~ =@ <
O w T ol = Oo|w ae
M xlZ 0| &
s wd| <= <
oL 5 = b
| . ‘B o~ %%} juse ]
g 8 >
i Z &= <
) L 5
a4 [<a]
= [Ix}
()
2 =
[y z
.. || @)
o
I _ , Q
= dOl E 2 2 2
o i = Y
v O (V]
W — » <
sz <8 AN 2
EM o0 — H =
oo | #* O ™ (%]
ritel o S
WP
o % 59T
& —
> = <
@ O
Q <C
3 o’
o —
& (7]
-
8 <
T s L
2 g Z
S
B i &
o k= %
o O =95 o’
# O Q5
=9 2 o
s Bz I
< o
o m
=
Y 3 L
» //ﬂ U

-1 ‘BMP'S0-Y0Z-XL\ATY 6102\sBUIMRIG\ZTD Usnid NIL-BULIAYL 0L9-YQ - IAL\SU| J0 3daQ Sexa) - g\LNINYVINYIA eInpus\SIuald\y



<-——]_7 S——

td
4 o g
, EXTERIOR 402 : , 85, fa
) ‘-? TOP RAIL %s; . § AL
(COMP)) @ N Zs 2.
U U .1 H - ] hg é*
* : ! o E o® 3
) vF E: <23 o8
Q2 FIBERGLASS SKIN . Lo 2 338 gk
X n (075" MIN.) R g>2 tgé
A — 1?_} ‘ © lll{{*:."x el & 9R. &0
{ v A hLhane ° x o n.l&J
H z g2 2wy
] 5 @y Of
INTERIOR LATCH STILE § 3598 By
HINGE STILE (LVL) e AZ* 83
(WOOD) 2 § £
2 i
E & 88
/ 1"\ HORIZONTAL CROSS SECTION i
5
G q_
O
W
; / = 3
36" MAX. /4 & x| Oo
PANEL WIDTH 2 | ==
& oo %
o x
24" MAX | Iy . < sk
D.L.O. WIDTH /A 5 2 3
o —
(o}
< 5 > 916" GLASS EXTERIOR INTERIOR € <
BITE n| |unjnln
EXTERIOR —————— 11/16"THK. GLASS ,// j\L 4 I 4P
( mEm
1/8" TEMPERED ; S|alS
$|O|2E
. _ 1 " S ARSPACE NNEEER
o 2
3% = J T 1/8' TEMPERED CEFELll 2
35 x0 X GLASS HEEENE
> L
T =T & ALUMINUM SPACER FOAM CORE SIR|B|ED =
=g 39 o) INTERIOR ' (POLYURETHANE - | tol5|2|9] [&
Q< o Q'SO SEALANT 1.9 PCF MIN.) 2|2 %
R SEE HARDWARE , S8 2128
Q
TABLE 1) GLAZING DETAIL 85|213|3
. 2| [Rol¥
3 NENNNE
BOTTOM RAIL < SENENG
(COMP.) = :
b | Imf|=2
g A oate: 8/07/12
scuE:  N.T.S.
THERMADTRU -PFlushI Glazed p— 0K
or Fane
(fbergloss /2 "\ VERTICAL CROSS SECTION ow o LFS
5 DRAWING NO.:
cwikser | ATCH: KWIKSET SIGNATURE SERIES (991) TX—4204
DEADBOLT: KWIKSET SIGNATURE SERIES (980/985)
SHEET 5 oF _8

RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-610 Therma-Tru Flush GLZ\Drawings\2019 REW\TX-4204-05.dwg, 1-5

@ 2012 R.W. BUILDING CONSULTANTS INC.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-610 Therma-Tru Flush GLZ\Drawings\2019 REW\TX-4204-05.dwg, 1-6

2N/ 30 2X FRAMING 2X FRAMING - u,
— - Pt : : [
DN (G >=0.42) /_ DRYWALL (G> 0~<?-) . DRYWALL Soxria &3:} £3 .
~ ~ AR P T e oS )
N4 IKE A Za E] g% 3 ge
d ¥ i - \ ¢l A \ ".‘-"\n" .:o:m 0 i O I'?) a7
;;u.: F i ey .o r4 Zu‘_
EXT. SHEATHING {4 - EXT. SHEATHING  p/1|4 o Pt SRR W = 5
N r’-c’: i U . Loy %
f \ 1 1B B 8 Es2 i
Ty - 43].} 1114 . ‘73', {?ll k3 ;;;;:>- ?'.;?& % oo gé
L #10 X 2-1/2" PFH ok Whiadaas™ & o& Eg
! T~ WOOD SCREW i o v 252 ur
* . S o 2 F ok
1/4" MAX. {ly | ftil < g 368 2;
Z o 2
/N © _ SHE 174 MAX, | WOOD SCREW 5 gg
&/ SHIM SPACE — E X B8
i = 00p000) 8
DOOR PANEL * DOOR PANEL
\ HEAD: PINE \ HEAD: "FusionFrame" (1-PIECE]) 2
3)
ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP )
(QEBD/PE 650) (QEBD/PE 650) ¥o
<C
’ ‘ \ \ S x5
EXTERIOR INTERIOR EXTERIOR INTERIOR S g 2,
] 2 59
NS 1 /"2 "\ VERTICAL CROSS SECTION @ VERIICAL CROSSSECTION. % 5
CORNER PADS QOutswing shown - inswing also approved - - &
ek paDs (7 A7 7 \8/uising 9 o opp ‘L
e £
o <C
o a
B 0'15" 1t g g g g >-
1/4" MAX. ] = CSINK 174 MAX, ==
EXT. SHEATHING JAMB: "FusionFrame" 3[0|5 N
JAMB: PINE (1 OR2-PIECE) 212123
. =N W=zi=
0.75" 75" 75" z ! S S o o S, o o, R E
“‘t“’i 075‘ ‘14_._‘ ‘-‘——-‘_‘O 5 ,’ 40X2‘]/2’,PFH #]0X2']/2“PFH ““ “ “‘“ “ = ““ %ggio %
WOOD SCREW ULTIMATE HURRICANE ASTRAGAL WOOD SCREW l 2RiZ3 gl e
ULTIMATE FLIP LEVER ASTRAGAL P SIRIBIEIS] |2
COMPOSITE SNAP-ON 2X FRAMING ULTIMATE MULTIPOINT ASTRAGAL e | RIS o8 @
NAP- d o=l lE
CAP (G>=042) ENDL(}SQB\[')VE:g fzgg)STRlP ENDURA WEATHERSTRIP (G>=042) | |3IEI5IEIS
4 DOOR PANEL . .(QEBD/PE 650) N EIRRIE
olkiglalg
3 0l ENEEE
~ " 2 Dlinis
Ej ~ v N “ ) SRRV R ER s }{ k E
= SE X= NN \ JRARSE
/ () > QSN IBRL RENRNE
o 1] SR SN G
il S <+ ey
AN Z
_E_J;[ DRYWALL/ / / () SrywalL 1 8/07/12
] 125 105" |m— ) #8 X 2-1/2" PFH #8X 1"PFHSMS  #8X2-1/2"PFH LATCH #8 X 1" PFH SMS #8 X 2-1/2" PFH ScAE:  N.T.S.
: —i 125" = WOOD SCREW WOOD SCREW ,  + 1 ppyy STRIKE PLATE WOOD SCREW ove. B JK
. 4" HINGE 4" HINGE .
JAMB / HEAD JAMB / HEAD JAMB #8 X 3/4" PFH SMS WOOD SCREW #8 X 3/4" PFH SM$ cHk. B LFS
PINE "FusionFrame" "FusionFrame" m HORIZONTAL CROSS SECTION DRAW';;EO‘;ZM
(1-PIECE) (2-PIECE) W Inswing shown - Outswing also approved

SHEET 6 oF 8

© zoi1z RwW. BUILDING CONSULTANTS ING.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD{ - DR-610 Therma-Tru Flush GLZ\Drawings\2019 REW\TX-4204-05.dwg, 1-7

A\ Y

INTERIOR EXTERIOR

DOOR PANEL
/

ENDURA
DOOR SWEEP

/ (DBK-R)

\\
INTERIOR EXTERIOR
DOOR PANEL
ENDURA
DOOR SWEEP
(DBK-ZAC) \ .

ENDURA X
WEATHERSTRIP // DOOR PANEL SAL :.

(QEBD/PE 650} ‘I\ EXTERIOR

10203)

9
TE

INTERIOR

ENDURA
WEATHERSTRIP
(QEBD/PE 650)

ANVALY
¢ OF

INTERIOR | EXTERIOR

0O
W

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/1" VERTICAL CROSS SECTION
\7/ Inswing Adjustable Threshold

4.56" !
INSWING ADJUSTABLE THRESHOLD

ZAIL4565

1.65"

.

i

!' 456" —— |

INSWING ARTICULATING THRESHOLD

6 IACLA4565

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 2"\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

7”4\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"3"\ VERTICAL CROSS SECTION

W Inswing Arficulating Threshold

w/ Pin Capture

! 456" |

2 INSWING ADJUSTABLE THRESHOLD
ZAI4565FN

MAX. DESIGN PRESSURE = +40/-45 PSF

'; _\”

4.56"

7 INSWING ARTICULATING THRESHOLD
ZACA565FN

MAX. DESIGN PRESSURE = +50 PSF

MAX. DESIGN PRESSURE = +40/-45 PSF

\U Outswing Bump Threshold \7/ Outswing Bump Threshold

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123
33595

BUILDING CONSULTANTS, INC.

Documents Prepared By

P.0. Box 230 Valrico FL.
Phone No.: 813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

[%2]

=z

o

G

L

w

& 0

= 2]

o o

= [N

] O

¢

Q

.. =

S &

2 >
o]
o
o

EEES

JRNE B U} R} )

UPDATE TO 2018 IBC/IRC CODE
REVISIONS

A ER I NE
S L -y N &
| | i \n NJ)ﬁl 1
f 4.56" ' 456" ! ! 456"
3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
ZAILAA4565 ZAIAA4565FN ZAl4565RDS
MAX. DESIGN PRESSURE = +40/-45 PSF MAX. DESIGN PRESSURE = +50 PSF
% % - %
L R |
4.56" 456" i L—-—————— 456"
8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD
ZACLAA4565 ZACAA4565FN IAC4565RDS

MAX. DESIGN PRESSURE = £50 PSF MAX. DESIGN PRESSURE = +40/-45 PSF MAX. DESIGN PRESSURE = +45 PSF

| = i 5 |
i = A
< < < .
f 1 + i
! 4.56" ! ! 4.5¢" = 4.56" 456"
1 QUTSWING THRESHOLD 12 QUTSWING THRESHOLD 13 QUTSWING THRESHOLD 14 OUTSWING THRESHOLD
IOBL4565 ZOB4565FN ZOB4565RDS FOB4566

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS| PART OR ASSEMBLY:

8/05/18 |ADDED ADDITIONAL THRESHOLDS
1/07/14 |ADDED ARTICULATING SILL

11/18/19|ADD "FusionFrame” OPTION &

NO| DATE

1

4

MO

bATE: 8/07/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4204

sHeer 7 oF 8

©zorz R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-610 Therma-Tru Flush GLZ\Drawings\2019 REV\TX-4204-05.dwg, 1-8

HEAD ANCHORS: u
s g 2X FRAMING #10 X 2-1/2" WOOD SCREW (PINE JAMB) L
o6 < (BY OTHERS) #10 X 3" WOOD SCREW (1-PIECE JAMB) }10 X 2.5" PFH WS % 3 o E9
:L o) o 1 6" J'_';: 2 W E
S 2 S » 2 — ) / Su oB 57
= 3 [((m”é" ' o Zab 8l
[N o S P
o ! el 8 £s2 3z
u e 5 HE8 Ge
— T 284 4
SEEHINGE —__ | T 1T ASTRAGAL STRIKE -0 E
DETAIL 1 8T ” DETAIL | DETAIL1  PLATE @ HEAD JAMB & 83 &8
- e @
& % g:' j: 28 Zo %%
5 il | 4] T JAMBANCHORS: 8 355 gu
#10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) o oaoa § s
: #10 X 3" WOOD SCREW (1-PIECE JAMB) 2 g b
& \ € gg
o 3 I ) - #8 X 2-1/2" PFH WS £ @ 6
i O
o [[ o e
" é(‘ - i
SEE HINGE | #BXV'PRHWS <=0 1| | ™1~ u8X 3/4' PFH WS
DE[AIL 2 L l H . _ 4u X 4u H'NGE o
\ =
! < &= W £
: - | ic g =
4% DETAIL2, 3OR 4 == HINGE DETAIL 1 S |45
2y s g =
o ot P~
| ~° Yol
) % | #8X2-1/2' PFHWS 9 2
. LL
4" (TP SILL ANCHORS: e § x
“#10 X 2-1/2" PFH WOOD SCREW e | |le a —
HINGE JAMB v : &oF ) 5 %
FLOOR SUBSTRATE MATERIAL 4 (TYP 2'(TYP.) "~ 1/4'X2:3/4" ELCO OR #BXT'PFHWS <=0 [l OI-t~- 48 X 3/4" PFH WS 5 g
ITW CONCRETE SCREW A X A
CONCRETE (MIN. 3000 PSI) § | XAHINGE ol |e]efep
WOOD (G >=0.42) FRAME ANCHORING " wl |
XX of |x
HINGE DETAIL 2 IS § §
z|0|R|S
&|L|O
* . . 2 NN
NOTE: This anchor required for D.P. > 45 PSF. ool Fol |
et 2
JAMB NOTES: || |2 2 B
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. E S %‘ 23| @
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. “E ol Z’ 3 g
10 =
CONCRETE ANCHOR NOTES: § WS |E
1. Concrete anchor locations at the corners may be adjusted to maintain the min. I g o W N
- edge distance to mortar joints. : 3/16" X 2-3/4" ITW CONCRETE SCREW : Rw| |
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusfed to OR ASTRAGAL PIN CAPTURE § ] § § §
maintain the min. edge distance to mortar joints, additional concrete anchors "
" may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP) S g 3 E "
3. Concrete anchor table: ASTRAGAL STRIKE o 3R k=
PLATE @ SILL \ 1/2" DIA. HOLE (IN CAP) > NN
L ] | o o
Lo\ [ & J © fo o =
mggow@ 3/16 1-3/4° 3 -1/ = = z = = 0aTE: 8/07/12
SCcALe:  N.T.S
’Tw n " T W .
1apcon®| V4 1-3/4 1-1/2 4 owG. 8. JK
ECO | g 1-3/4 1" & 1/2'DIA-HOLE pErAp 2 DETAIL 2 DETAIL 3 ok s LFS
ULTRACON ————— : BT DRAWING NO.:
Outswing Inswing Inswing
TX—4204

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

sheer 8 ofF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



